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Introduction
In last meeting, WF [1] on LTE-based 5G terrestrial broadcast was approved with some open issues, e.g. Maximum input level, ACS/Blocking requirements and REFSENS. In this paper, we’d like to provide our views.
Discussion on REFSENS
In last meeting, there is no agreement could be reached regarding the required refsens value so far. The following options can be offered:
Option 1:	Use a refsens value better than band n71 refsens as a starting point, assuming for the purpose of refsens definition that there is no concurrent uplink in any band.
Option 2:	Derive refsens from basic principles without necessarily using n71 as a baseline.
If we didn’t reuse current RF front end for IMT bands, we need to derive the REFSENS based on the following formular.
REFSENS= -174+NF+10*log10(BW)+60-diversity gain+IM+SNR
BW(MHz) = (5, 10, 15, 20 )*0.9
diversity gain = 3dB for 2Rx.
IM=2.5dB.
SNR= -1dB minimum SNR for detection
9dB NF can be assumed.
Thus, -100dBm/-97dBm/ -95.2dBm /-94dBm REFSENS for 5, 10, 15, 20MHz.
Proposal 1: If 9dB NF can be assumed, -100dBm/-97dBm/ -95.2dBm /-94dBm REFSENS can be derived for 5, 10, 15, 20MHz.
Discussion on Maximum input level
Generally, the maximum input level is derived based on the following formula.
Maximum input level = BS output power – MCL – body loss
Body loss can be assumed as 1dB.
For HPHT, the BS output power can be assumed as 70dBm.
MCL can be calculated based on free space path loss. 
MCL = 32.5 + 20log10(fc)+20log10(distance)
Fc can assume 0.6GHz. If the minimum distance between HPHT and UE is 35m, the MCL is 58.9dB.
If the minimum distance between HPHT and UE is 350m, the MCL is 78.9dB.
If the minimum distance between HPHT and UE is 1000m, the MCL is 88dB.
Proposal 2: The maximum input level is derived based on the following formula: Maximum input level = BS output power – MCL – body loss, considering reasonable assumptions.
Discussion on ACS
Generally, adjacent channel selectivity (ACS) represents the linearity performance of Rx RF chain. The linearity performance of Rx RF chain is mainly represented by IM3. Thus, the adjacent channel interference should be located closed to the wanted signal.
Proposal 3: For UE ACS requirements, the adjacent channel interference should be located closed to the wanted signal.
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Figure 1 illustration on DTT channels
As shown in figure 1, the typical scenario is that DTT channels (6/7/8MHz) are placed on the frequency range one by one. When RAN4 specify the ACS requirements, we should consider the typical scenario, e.g. the adjacent channel interference (6MHz) can be located closed to the wanted signal (6MHz), the adjacent channel interference (7MHz) can be located closed to the wanted signal (7MHz) and the adjacent channel interference (8MHz) can be located closed to the wanted signal (8MHz). For this test configuration, it’s meaningful to know the UE performance under the typical interference scenario.
Proposal 4: For UE ACS requirements, the channel bandwidth of the adjacent channel interference and wanted signal can be same considering the typical interference scenario with 6MHz, 7MHz and 8MHz.
Summary
Proposal 1: If 9dB NF can be assumed, -100dBm/-97dBm/ -95.2dBm /-94dBm REFSENS can be derived for 5, 10, 15, 20MHz.
Proposal 2: The maximum input level is derived based on the following formula: Maximum input level = BS output power – MCL – body loss, considering reasonable assumptions.
Proposal 3: For UE ACS requirements, the adjacent channel interference should be located closed to the wanted signal.
Proposal 4: For UE ACS requirements, the channel bandwidth of the adjacent channel interference and wanted signal can be same considering the typical interference scenario with 6MHz, 7MHz and 8MHz.
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